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~0f 80 =
4

£8.40-£3.22 =
127 x 8 =

Write 35 in Roman Numerals

531 9=
7265 + 3754 =
10% of 420 =

What is the value of the
underlined digit? 17424

6.2x10 =

3 5
_+_=
6 6

3 0f80 =

4

£13.99 - £4.78 =
265 x 8 =

Write 49 in Roman Numerals

783 +9 =
27553 + 7643 =
15% of 420 =

What is the value of the
underlined digit? 87543

6.2 x 1000 =

12437
9 9

3 0f 120 =

4

£23.99 - £14.01 =
352 x 8 =

Write 97 in Roman Numerals

1224 +9 =
97354 + 17653 =
25% of 420 =

What is the value of the
underlined digit? 875342

0.062 x 100 =

4 2
22+4 ==
7 14



- of 80 = 20 ~ of 80 = 60 = of 120 = 90

£8.40-£3.22 =£5.18 £13.99-£4.78 =£9.21 £23.99-£14.01=£9.98

127 x 8 =1016 265 x8=2120 352 x 8 =2816

Write 35 in Roman Numerals  Write 49 in Roman Numerals  Write 97 in Roman Numerals
= XXXV = XLIX = XCVII

531+-9=59 783 -9 =87 1224 -9 =136

7265 + 3754 =11019 27553 + 7643 = 35196 97354 + 17653 = 115007
10% of 420 =42 15% of 420 = 63 25% of 420 = 105

17424 = 7000 87543 = 80000 875342 =70000
6.2x10=62 6.2 x 1000 = 6200 0.062 x 100 =6.2

3 5 8

2422829221 12432=42253-52 22+42-62=62
6 6 6 6 3 9 9 9 9 3 7 14 14 7



